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Assignment 2.1: 

 

1) 

 

Green stands for symmetry plane 

Red stands for anti-symmetry plane. 

 

 

 



2)  

As seen in the picture, we can divide the geometries in quarters/half and apply B.C so we can 

apply a smaller mesh and reduce by half or more the computation cost. I’m aware the 

drawings show hyperstaticity but it was the way I thought I had to represent them. Normally, 

we would have to have an isostatic system so it can behave as expected when loaded. 

 



Assignment 2.2: 

 

D: The effort is applied in this spot. 

B,F,M,J,: Due the angle and proximity to the effort, this part will bend with ease. 

I,N: The effort reaction. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Assignment 2.3: 

 

 

 

 

 

 


